
9.5” Ford Oval Installation Guide 
P/N: 901460,61,62,66,69,87  
Installation Instructions 
 
 
 

Installation Tools Needed: 
10mm Wrench 
8mm Wrench 
7mm Wrench 
Pliers 
Flat Head Screw Driver 

 

Step 3:   
Insert the two 10-32 socket set 
cup screws in one upper and 
one lower location. As pictured 
above. 
*This is not same location for 
Front Grille installation 
 
 

Included In Package: 
 
1- Ford Oval 
2- 10-32 Hex Nuts 
2- 10-32 Washer 
2- 10-32 Socket Set Cup Screw 

Step 2:   
Factory Oval has FIVE clips that need to be pushed to remove 
oval 
 

Step 1:   
Remove tail gate inner panel. 
 

Defenderworx.com  

Step 5:   
Confirm you have properly 
installed before driving 
vehicle 
 
 

Step 4:   
Install Defenderworx oval into 
factory location.  Use provided 
washers and nuts to secure oval to 
tailgate.  

Tailgate Installation 



9.5” Ford Oval Installation Guide 
P/N: 901460,61,62,66,69,87  
 
 
 
 

Installation Tools Needed: 
10mm Wrench 
8mm Wrench 
7mm Wrench 
Pliers 
Flat Head Screw Driver 

 

Step 4:   
Use flat-head screwdriver to 
remove (3) tree clips on each side 
of grille for a total of (6) clips.  
Keep clips. 
 
 

Included In Package: 
 
1- Ford Oval 
2- 10-32 Hex Nuts 
2- 10-32 Washer 
2- 10-32 Socket Set Cup Screw 

Step 2:   
Remove the top (4) grille screws 
with 10mm wrench (center) and 
(2) plastic tree clips (outer) with 
flat-head screwdriver. Keep 
screws and clips 
 

Step 1:   
Use flat-head screwdriver to 
remove (10) retaining clips. 
Remove plastic cover. Keep 
clips and cover. 
 

Step 6:   
Unclip (2) electrical plugs on 
top side of the factory grille.   
 
 

Step 5:   
Remove (1) 8mm bolts that secure 
lower grille to truck on each side 
for a total of (2) 8mm bolts. Keep 
bolts. 

Grille Installation 

Step 3:   
Firmly pull out plastic cover 
around headlamp.  Repeat 
other side. 
 

Step 7:   
Pull factory grille assembly straight 
up and out. 
 
 

Step 8:   
Remove (4) plastic clips on top of 
grille assembly. Keep clips 
 
 

Step 9:   
Remove (7) 10mm nuts and (1) 
7mm bolt in center of grille. Keep 
rear assembly for installation. 
 
 



9.5” Ford Oval Installation Guide 
P/N: 901460,61,62,66,69,87  
 
 
 
 

Installation Tools Needed: 
10mm Wrench 
8mm Wrench 
7mm Wrench 
Pliers 
Flat Head Screw Driver 

 

Step 13 :  
Repeat steps 1-9 in reverse 
order to reassemble and install 
grille. 
 
 

Included In Package: 
 
1- Ford Oval 
2- 10-32 Hex Nuts 
2- 10-32 Washer 
2- 10-32 Socket Set Cup Screw 

Step 11:   
Insert the two 10-32 socket set cup screws in the 
outer locations.  
*This is not same location for rear tailgate 
installation 
 
 

Step 10:   
Remove (2) nuts from rear of 
factory oval 
 

Grille Installation 

Step 12:   
Mount Defenderworx oval 
to factory grille Using 
provided hex nuts and 
washers. 
 

Step 14:   
Confirm you have properly 
installed before driving vehicle 
 
 

Defenderworx.com  


	9.5” Ford Oval Installation Guide�P/N: 901460,61,62,66,69,87 �Installation Instructions���
	9.5” Ford Oval Installation Guide�P/N: 901460,61,62,66,69,87 ����
	9.5” Ford Oval Installation Guide�P/N: 901460,61,62,66,69,87 ����

